
Home » AVTEQ » AVTEQ Neat Frame Floor Stand Installation Guide  

Contents
1  AVTEQ Neat Frame Floor
Stand
2  Product Information
3  Product Usage Instructions
4  PACKAGE CONTENTS
5  INSTALLATION INSTRUCTION
6  Documents / Resources

6.1  References
7  Related Posts

AVTEQ Neat Frame Floor Stand

AVTEQ Neat Frame Floor Stand Installation Guide

Manuals+ —  User Manuals Simplified.

https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/avteq
https://manuals.plus/avteq/neat-frame-floor-stand-manual.pdf
https://manuals.plus/#avteq_neat_frame_floor_stand
https://manuals.plus/#product_information
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#package_contents
https://manuals.plus/#installation_instruction
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts


Product Information

Specifications

Product Name: Neat Frame Floor Stand

Model: NEATFRAME-STAND

Package Contents

A. Base plate [x1]

B. Body column [x1]

C. Rear cover [x1]

D. Flat 1/4-20 1/2 screw [x1]

E. Socket M6x1.0 10mm long screw [x2]

F. Flat 3/8-16 1.25 screw [x3]

Product Usage Instructions

Step 1: Secure Base to Body Column
Place the base plate at the bottom of the body column and secure them together.

Step 2: Secure the Neat Frame
Attach the Neat Frame to the inner hole of the body column by screwing from the bottom into the top inner hole.



Step 3: Secure Rear Cover to the Body Column
Secure the rear cover to the body column using screws through the two top holes of the rear cover.

FAQ

Q: How do I contact support for this product?

A: You can contact us at support@avteqinc.com for any questions or assistance.

PACKAGE CONTENTS

A. Base plate [x1]

B. Body column [x1]

C. Rear cover [x1]

D. Flat 1/4-20 1/2” screw [x1]

E. Socket M6x1.0 10mm long screw [x2]

F. Flat 3/8-16 1.25” screw [x3]

INSTALLATION INSTRUCTION

Secure base to body column 

Place body column (B) on top of the base plate (A) and screw it on from the bottom of the base plate with [x3]

flat-headed 3/8-16 1.25” screws (F).



Secure the Neat Frame

Place the Neat Frame on top of the body column (B).

Secure the Neat Frame with a [x1] flat 1/4-20 1/2” screw (D). Screw from the bottom into the top inner hole of

the body column.

Secure rear cover to the body column



Place the rear cover (C) behind the body column (B).

Secure the rear cover using a wrench and [x2] socket M6x1.0 10mm screws (E) and screw into the two top

holes of the rear cover.

avteqinc.com

Have a question?
Contact us at support@avteqinc.com

Documents / Resources

AVTEQ Neat Frame Floor Stand [pdf] Installation Guide
Neat Frame Floor Stand, Frame Floor Stand, Floor Stand, Stand

References

 AVTEQ | Collaborative AV Furniture Designed for Today's Technology

User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.

http://avteqinc.com
mailto:support@avteqinc.com
https://manuals.plus/m/6c7a17df3d50b35f99877622a26575b66968a1552d6e1c478ee57b04ec3c00e4
https://manuals.plus/m/6c7a17df3d50b35f99877622a26575b66968a1552d6e1c478ee57b04ec3c00e4_optim.pdf
http://avteqinc.com
https://manual.tools/?p=13689102#MTA0LjI4LjIwMi4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	AVTEQ Neat Frame Floor Stand Installation Guide
	AVTEQ Neat Frame Floor Stand
	Product Information
	Product Usage Instructions
	PACKAGE CONTENTS
	INSTALLATION INSTRUCTION
	Documents / Resources
	References



